
Economic Commission for Latin America and the Caribbean (ECLAC). Life Tables.
Demographic Observatory, Latin America and the Caribbean (LC/PUB.2017/20-P).
Santiago: United Nations, 2017.
Downloaded from https://www.cepal.org/en/node/44746 (14.01.2019).

https://www.cepal.org/en/node/44746


OBSERVATORIO
DEMOGRÁFICO

América Latina
y el Caribe

DEMOGRAPHIC
OBSERVATORY
Latin America  
and the Caribbean

2 0 1 7

Tablas de  
mortalidad

Life 
tables



158

ECLAC • Latin America and the Caribbean. Demographic Observatory 2017	 Life tables

Cuadro 16 (continuación 2)/Table 16 (continued 2)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.055 0.053  100 000  5 256  95 886 0.935 b 6 411 889 64.1
1 4 0.008 0.030  94 744  2 854  371 496 0.978 c 6 316 003 66.7
5 5 0.002 0.010  91 890   909  457 176 0.992 5 944 507 64.7

10 5 0.001 0.006  90 981   561  453 501 0.993 5 487 331 60.3
15 5 0.002 0.009  90 420   793  450 117 0.989 5 033 830 55.7
20 5 0.003 0.012  89 627  1 120  445 336 0.987 4 583 712 51.1
25 5 0.003 0.014  88 507  1 241  439 434 0.986 4 138 377 46.8
30 5 0.003 0.015  87 266  1 277  433 138 0.984 3 698 943 42.4
35 5 0.003 0.017  85 989  1 429  426 374 0.981 3 265 805 38.0
40 5 0.004 0.022  84 560  1 819  418 254 0.974 2 839 431 33.6
45 5 0.006 0.031  82 741  2 526  407 392 0.962 2 421 177 29.3
50 5 0.009 0.045  80 215  3 627  392 009 0.944 2 013 785 25.1
55 5 0.014 0.068  76 588  5 202  369 935 0.916 1 621 776 21.2
60 5 0.021 0.102  71 386  7 281  338 729 0.874 1 251 841 17.5
65 5 0.033 0.152  64 105  9 731  296 200 0.816  913 113 14.2
70 5 0.050 0.222  54 375  12 091  241 646 0.736  616 913 11.3
75 5 0.075 0.318  42 284  13 447  177 802 0.633  375 266 8.9
80 5 0.113 0.439  28 837  12 674  112 500 0.510  197 465 6.8
85 5 0.168 0.580  16 163  9 375  57 378 0.378  84 964 5.3
90 5 0.245 0.723  6 788  4 907  21 671 0.251  27 586 4.1
95 5 0.349 0.845  1 881  1 590  5 429 0.082 d  5 915 3.1

100 ω 0.599 1.000   291   291   486   486 1.7
Mujeres/Females

0 1 0.044 0.042  100 000  4 216  96 700 0.945 b 6 699 058 67.0
1 4 0.007 0.029  95 784  2 795  375 770 0.980 c 6 602 357 68.9
5 5 0.002 0.009  92 989   804  462 937 0.993 6 226 587 67.0

10 5 0.001 0.005  92 185   462  459 771 0.994 5 763 650 62.5
15 5 0.001 0.006  91 723   551  457 237 0.993 5 303 880 57.8
20 5 0.002 0.008  91 172   761  453 957 0.990 4 846 643 53.2
25 5 0.002 0.011  90 411   983  449 598 0.988 4 392 685 48.6
30 5 0.003 0.013  89 428  1 198  444 144 0.985 3 943 087 44.1
35 5 0.003 0.016  88 230  1 437  437 556 0.982 3 498 943 39.7
40 5 0.004 0.020  86 793  1 757  429 571 0.977 3 061 387 35.3
45 5 0.005 0.026  85 036  2 244  419 570 0.969 2 631 816 30.9
50 5 0.007 0.036  82 792  3 014  406 425 0.956 2 212 246 26.7
55 5 0.011 0.053  79 778  4 218  388 345 0.934 1 805 821 22.6
60 5 0.017 0.080  75 560  6 024  362 740 0.900 1 417 476 18.8
65 5 0.026 0.123  69 536  8 530  326 354 0.846 1 054 736 15.2
70 5 0.042 0.189  61 006  11 544  276 169 0.767  728 382 11.9
75 5 0.067 0.287  49 462  14 214  211 775 0.657  452 213 9.1
80 5 0.107 0.421  35 248  14 845  139 128 0.507  240 438 6.8
85 5 0.186 0.618  20 403  12 610  70 491 0.348  101 310 5.0
90 5 0.258 0.742  7 793  5 784  24 507 0.236  30 819 4.0
95 5 0.351 0.848  2 010  1 703  5 790 0.083 d  6 312 3.1

100 ω 0.587 1.000   306   306   522   522 1.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


